REBXFOELUE bigAOO6-(1)

HOBRRETN—IDBERESL—ZVT

o+1= 11542 =
21 14 2= 8 3+ 2=
3 3+4= 9| 3+ 5H=
1144 5= 100444 =
51 3+ 1= 1 442 =
6/ 9+ 9= 121 34 3=



REBXFOELUE bigAO06-(2)

14+ 1= 11545 =
2 44 3= 394 1=
33+ 95= 9] 342 =
11441= 10014 3=
512+ 1= 1 445=
6] 3+2= 12243 =

MOBRRETN—IDBERESL—ZVT



REBXNFOELUE bigAO06-(3)

MOBRREDN—IDBERESL—ZVT

11 243= 1124 1=

21 14 2= 8 543 =

3o+ 1= 9/ 3+ 3=

113+ 2= 100 44 3=

5 2+ 2= M3+ 1=

6 44+ 5= 2 545=
RET: Qi



AEBRNFORLE 2)|=> T1+1= 2 71154+5= 10
PIEADDO 24+3=7 [(85+1=6
[ Prpes ] 3134+5= 8§ 9. 3+2= 5
= 14+1=95 [W01+3=4
o1 = 52+1=3 [114+4+5=9
i . 3+2=95 [1224+3= 9
119+1= 6 1154+2=7 | 112+3= 5 112+1= 3
2114+2= 3 §/3+2= 5| 2/14+2= 3 8 59+3= 8
31344= 7 9/34+5=8 | 315+1=06 9/3+3= 6
1445=9 [04+4=8 | 43+2=5 [104+3=7
53+1=4 m4+2=6|52+2=4 W3+1=4
6 5+5=10 ©3+3=6| “4T5=9 [25+5=10
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